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方程式を使った玉の数と火薬の量の求め方

How to purchase the number of bullet and gunpowder’s amount using the equation
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小
さ
い
筒
を
放
つ
の
に
一
匁
二
分
必
要

で
大
筒
に
は
、
五
匁
必
要
。

そ
し
て
、
大
筒
よ
り
も
小
筒
の
ほ
う
が

九
百
十
二
個
玉
の
数
が
多
い
。
薬
の
量

と
玉
の
数
を
知
る
に
は
、
ま
ず
多
い
玉

の
数
で
あ
る
九
百
十
二
を
一
匁
二
分

に
か
け
る
。
そ
う
す
る
と
、
一
貫
九
十

四
匁
四
分
と
で
る
。

ま
た
、
大
筒
の
五
匁
の
う
ち
小
筒
の
一

匁
二
分
を
減
ら
し
て
余
っ
た
三
匁
八
分

で
一
貫
九
十
四
匁
四
分
を
割
れ
ば
大

筒
の
玉
数
が
二
百
八
十
八
と
わ
か
る
。

こ
れ
に
多
か
っ
た
玉
の
数
九
百
十
二
を

足
す
と
小
筒
の
玉
の
数
が
千
二
百
個
と

わ
か
る
。

ま
た
、
こ
れ
に
一
匁
二
分
を
か
け
る
と

薬
の
量
が
一
貫
四
百
四
十
だ
と
わ
か

る
。

大筒の玉の数；x
薬の量
大筒；x  小筒；x+912

火薬の量
大筒；5x
小筒；(x+912)×1.2

5x=(x+912)×1.2
5x-1.2x=912×1.2
3.8x=912×1.2  
3.8x=1094.4
X=288

We divide gunpowder equally into two groups. We need 
1.2monme to shot small cylinder, 5monme to shot big cylinder. 
Small cylinder’s number of bullet are 912 much than big 
cylinder. To know gunpowder’s amount and number of 
bullet,912×1.2=1094.4. Small cylinder’s 1.2 in big 
cylinder’s 5monme cut and leave 3.8monme. 1094.4÷3.8=288. 
This number is big cylinder’s bullet. Then add 288 to 912 
of many bullet, and you get 1200. This is small cylinder’s 
number. Then 1200×1.2=1440. This number is 
gunpowder’s amount.

Big cylinder’s number of bullet; x
Number of bullet
Big; x Small; x+912

Gun powder’s amount
Big; 5x
Small; (x+912)×1.2

5x = (x+912)×1.2
5x -1.2x = 912×1.2
3.8x = 912×1.2
3.8x=1094.4

x = 288

和算の問題はとても難しかったが、班の
みんなで協力して取り組むことができた。

昔の人々の数学の問題を工夫して解く
考え方を学ぶことができ、数学の奥深さ
や楽しさが分かった。

この和算書は、大筒の数をxとおいて
方程式を用いてそれぞれの筒の玉数
と火薬の量を求めたものである。

現代語訳を先生に頼ってしまったので、
何を求めているのかを明確にして、自分
たちで訳せるようにしたい。
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(288+912) ×1.2 = 1440  
火薬の量

288+912=1200    
小筒の玉の数
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(288+912) ×1.2 = 1440  
gunpowder’s amount

288 + 912 = 1200  
number of bullet

After this book of Japanese 
mathematics puts the number of 
the blunderbuss with x.
The number of balls which are the 
respective cylinders using an 
equation
I found the amount of the 
gunpowder.

Because I have depended on a teacher for 
a modern translation.
I make it clear what you're looking for, and, 
oneself
I'd like to make sure that you can translate 
by the quality.

The problem of the native mathematics of 
Japan was very difficult, but it was possible to 
cooperate by everyone of a group and wrestle.
It was possible to devise a problem of people's 
old mathematics and learn a solved way of 
thinking, and I knew the profundity of the 
mathematics and the pleasure.


